ÑEÀ CÖÔNG OÂN TAÄP

MOÂN: TOAÙN 8 (HKII)
Giaûi phöông trình

1/ 4(3x – 2) – 3(x – 4) = 7x +20

2/ 5(2x – 3) –4(5x – 7) = 19 –2(x + 11)

3/ 4(x + 3) – 7x + 17 = 8(5x – 1) + 166

4/ 17 – 14(x + 1) = 13 – 4(x + 1) – 5(x – 3)

5/ 5x + 3 + (3x – 4) = 7x – 3(x – 5)

6/ 7(4x + 3) – 4(x – 1) = 3 – x

7/ x + 2 + 2(x – 4) = – 4(x – 2)

8/ 2(x +3) – 3(x – 3) = 6x + 18

9/ (x –1)(3x +1) = 0

10/ (x –1)(x +2)(x +3)  =0

11/ (5x +3)(x2 + 4)(x – 4) = 0

12/ (4x –1)(x – 3) – (x –3)(5x +2) = 0

13/ (x +4)(5x +9) – x2 +16 = 0

14/ 
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20/ 5 - (x – 6) = 4(3  -  2x) 
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22/  3 -  4x(25 -  2x) = 8x2 + x - 300

23/
[image: image8.wmf]3

1

7

6

8

5

5

-

2x

-

  x

-

+

=

+

+

x

x



[image: image9.wmf]5

5

2

4

3

1

8

6

2

5

24/ 

-

+

=

-

-

+

x

x

x


_913584243.unknown

_913584536.unknown

_1643218901.unknown

_1643218902.unknown

_1643218805.unknown

_913584487.unknown

_913584092.unknown

_913584167.unknown

_913583983.unknown

